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Reason for change:
The description of the BSN ordering in the RLC/MAC block when including two RLC data blocks (MCS–7 to MCS–9) is incorrect.




Summary of change:
The calculation of “[Block A – Block B] modulo SNS” is corrected.




Consequences if not approved:
Specification is inconsicistent.
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Other comments:


Comprehensive information and tips about how to create CRs can be found at: http://www.3gpp.org/3G_Specs/CRs.htm.

10.4.12
Block Sequence Number (BSN) field

The Block Sequence Number (BSN) field carries the sequence absolute Block Sequence Number (BSN’) modulo Sequence Number Space (SNS) (128 in GPRS and 2048 in EGPRS ) of each RLC data block within the TBF. 

In GPRS, the BSN is 7 bits in length and is encoded as a binary number with range 0 to 127. 

In EGPRS, the BSN is 11 bits in length and is encoded as a binary number with range 0 to 2047. 

In case two RLC data blocks are sent within a RLC/MAC block, BSN2 is relative to BSN1, provided the difference between the second block number and the first block modulo SNS is less than Window Size (WS).

Second block number = [BSN1 + BSN2] modulo SNS 

(e.g. SNS = 2048, WS = 512, Block A block number = 10 and Block B block number= 2000 then:

[Block A – Block B] modulo SNS = 58 < 512; 

[Block B – Block A] modulo SNS = 1990 > 512; 

Then: Block #1 = Block B and Block #2 = Block A, BSN1 = 2000 and BSN2 = 58)
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